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1. OnJanuary 1, 2003, Fortune Co. sold 12% bonds with a face value of $2,000,000. The Ea
bonds mature in five years, and interest is paid semiannually on June 30 and December ?,’ﬁ:
31. The bonds were sold for $2,154,000 to yield 10%. Using the effective interest ! e
method of amortization, interest expense for 2003 is B
a. $200,000. b. $214,785 c. $215,040. d. $240,000. 1;
2. Decision makers vary widely in the types of decisjons they make, the methods of é’jﬁ_

decision making they employ, the information they already possess or can obtain
from other sources, and their ability to process information. Consequently, for
information to be useful there must be a linkage between these users and the
decisions they make. This link is - . |

a. relevance. b. reliability. c. understandability. d. matenality.

3. " An item that should be classified as an extraordinary item is -
a. write-off of goodwill. | .
*b. gains from transactions involving foreign currencies.
c. losses from moving .a plant to another city.

d. gains from extinguishments of debt.

4. During 2003 equipment was sold for $60,000. The equipment cost $84,000 and had
a book value of $48,000. “Accumulated Depreciation-Equipment” was $322,000 at
1/1/2003 and $345,000 at 12/31/2003. Depreciation expense for 2002 was

a. $35,000. b. $47,000. c. $59,000. d. $71,000.

5. When a company sells property and then leases it back, any gain on the sale
should usually be
a. recognized in the current year.
b. recognized as a prior period adjustment.
c. recognized at the end of the lease.
d. deferred and recognized as income over the term of the lease.

6. Tax rates other than the current tax rate may be used to calculate the deferred income
tax amount on the balance sheet if "
a. the future tax rates have been enacted into law.
b. it appears likely that a future tax rate will be greater than the current tax rate.
c. it is probable that a future tax rate change will occur.
d. it appears likely that a future tax rate will be less than the current tax rate.
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7 "Gains" on sales of treasury stock (using the cost method) should be

credited to
a. capital stock.
b. additional paid-in capital from treasury stock.
c. retained earnings.

d. other income.

3. Jennifer wants to invest a certain sum of money at the end of each year for five years.
The mvestment will earn 6% compounded annually. At the end of five years, she will
need a total of $2,500, 000 accumulated. How should she compute her required annual
investment?

a. $2,500,000 times the amount of a 5-year, 6% ordlinary annuity of 1.
. b. $2,500,000 times the present value of a 5-year, 6% ordinary annuity of 1.
“ . $2.500,000 divided by the amount of a 5-year, 6% ordinary annuity of 1.
d. $2,500,000 divided by the present value of a 5-year, 6% ordinary annuity of 1.

9. The following information is available for Bend Company for 2003:

Freight-in $ 60,000
Purchase returns 80,000
Selling expenses 140,000
Ending inventory 160,000

The cost of goods sold is equal to 500% of selling expenses. What is the cost of

goods available for sale?
a. $860,000. b. $920,000. c. $840,000. d. $700,000.

10. The cash account shows a balance of $360,000 before reconciliation. The bank
statement does not include a deposit of $23,000 made on the last day of the month.
The bank statement shows a collection by the bank of $7,500 and a customer's check
for $3.200 was returned because it was NSF. A customet's check for $4,500 was
recorded on the books as $5,400, and a check written for $790 was recorded on the
books as $970. The correct balance in the cash account was

a. $365,380. b. $363,580. c. $340,580. d. none of these.
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